
SpareParts Book Rev. 2.0

Macchina ECO8

Sezione

ECO8

SerNo PartNo Description Quantity

1 frame 1

2 pin 2

3 emergency switch box 1

4 emergency switch 1

5 bolt 2

6 handle 1

7 engine 1

8 hopper 1

9 rubber cover 1

Pagina 1 di 3

GEO
 m

ac
chi

ne
 ag

ric
ole

    
    

    
    

   G
EO

 m
ac

chi
ne

 ag
ric

ole
 

 
 

GEO
 m

ac
chi

ne
 ag

ric
ole

    
    

    
    

   G
EO

 m
ac

chi
ne

 ag
ric

ole
 

 
 

GEO
 m

ac
chi

ne
 ag

ric
ole

    
    

    
    

   G
EO

 m
ac

chi
ne

 ag
ric

ole
 

 
 

GEO
 m

ac
chi

ne
 ag

ric
ole

    
    

    
    

   G
EO

 m
ac

chi
ne

 ag
ric

ole
 

 
 

GEO
 m

ac
chi

ne
 ag

ric
ole

    
    

    
    

   G
EO

 m
ac

chi
ne

 ag
ric

ole



10 strip 3mm 1

11 washer M6 6

12 bolt M6 6

13 lock washer 1

14 cap Bearing 1

15 Bearing House 2

16 bearing 2

17 rotor 1

18 blade 2

19 washer 5

20 special bolt for blade 5

21 shredder box 1

22 top of the box 1

23 washer 2

24 bolt 2

25 conveyer 1

26 bolt for counter blade 5

27 bolt special 1

28 deflector 1

29 rotor key 1

30 locking washer M8 6

31 washer 14

32 bolt 14

33 bolt for bearing housing 8

34 locking washer M6 2

35 belt cover 1

36 washer 8

37 bolt 8

38 V belt A1780‐13x1750L‐A69 2

39 belt pulley 146 1

40 key for rotor 1

41 screw 4

42 safety ring for Rotor 1

43 belt cover ‐ top 1

44 safety ring for engine 1

45 key 1

46 belt pulley 1

47 cap for wheel 1

48 spacer 4

Pagina 2 di 3

GEO
 m

ac
chi

ne
 ag

ric
ole

    
    

    
    

   G
EO

 m
ac

chi
ne

 ag
ric

ole
 

 
 

 
 

GEO
 m

ac
chi

ne
 ag

ric
ole

    
    

    
    

   G
EO

 m
ac

chi
ne

 ag
ric

ole
 

 
 

 
 

GEO
 m

ac
chi

ne
 ag

ric
ole

    
    

    
    

   G
EO

 m
ac

chi
ne

 ag
ric

ole
 

 
 

 
 

GEO
 m

ac
chi

ne
 ag

ric
ole

    
    

    
    

   G
EO

 m
ac

chi
ne

 ag
ric

ole
 

 
 

 
 

GEO
 m

ac
chi

ne
 ag

ric
ole

    
    

    
    

   G
EO

 m
ac

chi
ne

 ag
ric

ole



49 wheel 2

50 axle 1

51 safety switch 1

52 counter blade 1

53 bolt 2

54 cover of the muffler 1

55 bumper 1

Pagina 3 di 3

GEO
 m

ac
chi

ne
 ag

ric
ole

    
    

    
    

   G
EO

 m
ac

chi
ne

 ag
ric

ole
 

 
 

 
 

GEO
 m

ac
chi

ne
 ag

ric
ole

    
    

    
    

   G
EO

 m
ac

chi
ne

 ag
ric

ole
 

 
 

 
 

GEO
 m

ac
chi

ne
 ag

ric
ole

    
    

    
    

   G
EO

 m
ac

chi
ne

 ag
ric

ole
 

 
 

 
 

GEO
 m

ac
chi

ne
 ag

ric
ole

    
    

    
    

   G
EO

 m
ac

chi
ne

 ag
ric

ole
 

 
 

 
 

GEO
 m

ac
chi

ne
 ag

ric
ole

    
    

    
    

   G
EO

 m
ac

chi
ne

 ag
ric

ole




